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65,834.21

rlbrlnru3g 987.5

1591 1 100/1 trdeL urh urhuru hnu 960lo uu L 1000 708 708.0

33691129/1 Lunnnhnulh prnnhn uu Zunn 450 09
3369172912 Vurrqhntilh plnnhn uu UnrlurL 90 20 18
33621290/l Unnhhurrhh UU Smth 1580 I 1.6

2432t660/r Fhuuur urilhrnhn uu Sntrh 68314 A 273.3

33691 133/1 9nrn unuhrlurh uu Sntrh 200 10 2.0
€FUf,Ur{UL L3nl.f}bf 35,190.5

24321660/1 Sntnurt qz L 1600 40 64.0
24321660t2 'Ihrfhrnhr$nnilunihn qz L 1900 70 133.0
24321660/3 9urthmrlhhhnnnpuhn SZ trq 1190 50 59.5

24321660/4 €rnnn$nntf q2 9q 2500 90 225.0

2432166015 Zhpurutr q, L 2400 90 216.0

24321660/6 Uqhtrrnh 9c 938 840 787.9
24321660/7 'IhkBhrhrahn qz 9q 6400 277 1772.8

2432166019 lJhnhrrnnurrhh q2 9q 50000 50 2s00,0
24321660/rO 9ur1 |rmrfurEhurBBrlurburh / rI (rumnurr) qz Irq 800 50 40.0

24321660/ll trhhqnr qz L 3000 400 1200.0

24321660/12 Uhrohrhh ptnnhn qz 9q 1000 50 500
24321660/13 €urnurptnn urblurubhh qz 9c 1s000 32 480.0

24321440/r €urqurtuulBBnr- uurnqurlhh qe \q 1000 80 800
24321660/r4 Uqnr.nurhurhralam q) bq 1400 30 42.0

24321660/15 Uhrahrhh prnnhn qZ trq 1500 60 90.0

24321660tr6 Unurlaranr qZ 9q 300 60 18.0

24321660/r8 Obripur\urh ppnr s2 rrq 300 70 210
24321660/19 hrahrhh qrhLnr qz 1500 40 60.0
24321660/20 'Tlnr hrlhnurr hh unrl urt *L 2uru 50 1000 50.0
24321660/21 Lulnnhmrlh prnnhnh rmbmrra 3r qt 1300 3.9
24321660/22 Lunnnhmr-[h prnnh4h rnr-EntrB 3r qZ 600 0.6
24321660/23 tturt hnul urbluurrararhut urh qZ trq 1500 50 7s.0



24321660/24 'Ihrfhrohr hraur hnr unlhtr q2 T 3600 50 180.0
24321660/25 UruDruratanr q2 Qq 6000 50 300.0
24321660/26 Unhhurh thdnr-Lurrhh urr nrr rlhh qZ rIq 50 4700 235.0
24321660/27 FntBurlrlt-1 qt L 2000 10 20.0
24327660/28 'IhrBtnurqd urb nhilhBhr umr gopuhn qZ 9q 1500000 z 3000.0

24327660/29

An$ (4fdhpfuulrlopuurh) burlpur3|rh

ufrlurhnlullrtr ]uilphpml,
riurbntohhmnrnthn' 5000 cSt

qz 9q 42333.3 J 127.0

24321660/30
An1Jr (A[ilhpfuuflopuurh) burlpur3frtr

u[r1urtrn1ur3 frh ]uilp hpmi,
ilurbntqhhnlrarnrhn' 3500 cSt

qz 9q 38333.3 3 115.0

24321660/31

'tlnD (qhilhpfr1u]rlopuurtr) burlpurl]rh
ufrlurhnlurl |rh luriphpml,

riruEnqlr\mp1nr.bg' 1000 cSt, 100

qpurilurhno rhurBhBunl nnrluriln

qZ Zuln 20500 2 41.0

24321660/32

'tlnft (afiltpfrlulrlopuurh) burlpur3|rh

untfrhnuipnulfrl fu rlphpml,
ilurbnr-gfr\nr-p1mhp 50-60 cSt, 100

qpunlutrno rhruBhBull npilulin

q2 Zuln 50000 3 1s0.0

24321660/33

AnD (qblthplrlulrlopuurh) burlpurllrtr
unlfrhnqpnulfrl ]uriphpn{,

ilurEmgfr\ntplmhg' 100-120 cSt, 100
gnulft utrnq rhurBhraull nnrlurtip

q2 Zurur 45000 2 90.0

24321660/34

aln$ (lftfhpfrlufrlopuurtr) EurSpurllrtr

hfr4popufr1 ]urfphpnt{, rfurbmgfr\mplnthg'
2500-3570 cSt

qZ U1 260 r000 260.0

24321660/35

anl-h (.Ihubohr_o€uuL) trhu (3-

uuhLnqtn.lhl.) ou3tu3hL
tuUtrbfnq, rihghtt rln1. 92[rn' 2500, 50

UL rhruratraull nnrft urln

SZ Zruur 149000 2 298 0

24321660/36 qI_hSbI.hL I.hurn 35200 1 35.2
24321660/37 1.2-.[I"n'IIuL.]hoL q2 I-hurn 32600 I 32.6

24321660138 $nhnu9nLh.InL qz q 6290 L0 629

24321,660/39
'u.qln$bLuq Lusfhnr.uuquL

u1
q 7590 10 7s.9

24321660/40 I--U1 urhlrl -f-Ur uLhh(I--Ur ur-I.-Ur ru) qz Uq 327 100 32.7

24321660/4r I.-urprhfrl-9t hghh (I.-Ut urhlrl -e1 hshL) qZ q 61900 I 61.9
24321660/42 Sl hshr -I--U1 urhlrh (ar hqhr -I.-Ur ur) s2 g 55400 I 55.4
24321660/43 Zhr hnrrl uhnrftltub a.urq trU tunn d 58928.5 22.4 1320.0
24321660/44 Str.nnurhBht onurnuht hh urr.n q) I-hrnn 70000 I 70.0
24321660145 tlnr htl hhhr hrrhh $r.nnnhn qz 9null 950 r00 95,0
24321660/46 'tlnr hd hhhr hnhtr $unnhn q2 9null 1300 100 130,0

24321660147
'IlniltqbLhf4hh $unplr4fr h

hhpuurS rnnFulntrqpnqhLhhh
huniurrunrhrlhn

qt Qpuni 550 100 55,0

2432 660/48 'Inr:l urtlhhh hhnnnpr nnhn sz Qnut[ 6000 l0 60,0
24321660/49 .tlnt 

hrl hhhr ru hnnt hnnh qz Qnunl 330 100 33,0
2432 660/50 'Tlnr hil hhhr ru hnnr hnrrh q2 Qnuril 580 100 58,0
2432 66015r 'tlnr hhphr hh rnhph$r.nur1 ruur qZ Qnull 288 250 72.0
2432 660/52 '[nrhurhnhrnLhurnhr qz Qnuni 2300 50 115,0
2432 660/53 2,4-Sn1 mlrl hb4hhqnqhurhurur q2 9nunf 380 100 38,0
2432 660t54 ZhpururlhBhr htr+hhq nqhurhuln q2 Ur 780 100 78,0
2432 660/55 1,4-trmBurlnhnr qZ I.hurn 30000 1 30,0
2432 660156 Prnnthhqnr q2 U1 150 500 75,0
zlJZ 660/57 1, 1, 1,3,3,3-Ztpuunlhr.nhr nhuhr urqurh q) I-hrnn 250000 I 250,0



24321660/58 ZhulmnruBBnt qz Irq 315000 1 315,0

24321660/59
2,2' -+ShtrbU- I -qtrlt"hrhlttlrruqbt

nur+hturt
qz Qpuril 1s0000 2 300,0

24321660/60 Zhrrnurq hh rfnbnhhnnuru, 98+o/o qz Qnuli 74 500 37.0
24321660/61 2-UhBopuhtBhr unlhh, 99olo q2 Ur 620 50 31,0
24321660/62 hBhr 3-unfhhnh nmnnhrurn, 98olo +/ Qnull 580 100 58,0
24321660/63 €r nnurqhnhr pr nnhn, 98olo qz U1 80 500 40,0
24327660/64 'Ilhnnrhnhh 99olo s2 Ur 84 s00 42,0
2432t660/65 Otnurqhr q, 9nuril 350 100 3s,0
24321660/66 9nhunnhtrh umr$urtn q, Qnuril 220000 3 660,0
24327660/67 'Ihrftrahr unr-r $opuhn sz 9q 15000 10 150,0
24321660/68 Urflrur\urgntp q2 Lhurn 600 20 12,0
24321660/69 Utrurqlr (II) 2 -fpfrl htpuurhnunn qz 9nuril 3s0 100 35,0
24321660/70 'Tllnlrulurppnt se I.hurn 90000 I 90.0
2432t660/71 Uurlnhrupprlh +hhphr tuBtn $/ 9nrurl 38 1000 38.0
24321660/72 LlurlnhurpBnl qz Qnuril 272 s00 136.0
24321660/73 Uurlnhrupprlh rlntrnhahr huBhn qz 9nuLl 5400 20 108.0
24321660/74 2.2-+hiltphr - 1.3-4fropuurh-4.6-nhotr q2 Qnuril 990 200 198.0
24321660/75 2-ppnrftuohrnnghtrntr q2 Qnuni 700 100 70.0
24321660/76 1-pnmfnnnhLurh sz Qnull 138 500 69.0
24321660/77 1-rnnrfhtpuurnhturh s2 Snruil 240 100 240
24321660/78 1.2-nhrnnrttBurh q2 Qpull 160 250 40.0
24321660/79 1.6-'Ihpnnr-l htpuurh lz- Qpunl 160 500 80.0
24321660/80 Zhpuurh q2 I-hurn 66400 2.5 166.0
24321660/81 'Ilhurnnrhmtf kBhn qz I-hun 42800 2.5 107.0
24321660/82 trhtrqnr qz I.hun 167000 I 767.0
24321660/83 €ppn$nptI qt I.hurp 44000 2.5 110.0
24ttII60/I Uqnur qurq q2 funn rI 2000 96 196.0

24321660/84
Zf 4puqf h tlnhnhfr4purtn

Hydrazine monohydrat e, 98o/o
q,

Qnuni
100 s00 50,0

2432t660/8s
Slrurtrur g h ururilfr4, 99olo

Cvanoacetamide
q2

Qnuril
160 500 80,0

24321660/86
$nu$nplr opufrplnpfr4, 99olo

Phosphorus (V) chloride
qz

rrc 90000 I 90,0

2432t660/87
Afulhpuqlrh 2np, 99olo

Piperazine anhvdrous
qz

9nruri 86 500 43,0

24321660/88 sdhL-60 q2 9q 77000 0,1 7.7
24321660/89 [-Iurlnnt hilhnuhnh rnr-n s2 Qq r30000 0,1 13,0
24321660/90 fun1 |rhhunhnhqur ulrurnpu:.uurntL1 qz Uq 1000 150 150,0
24321660/97 l ,I -urnh$rnnnruqtunh qZ Qnuril 7200 5 36.0
24321660/92 'Ihphtrqhrhhuntr qZ Qnuril 1800 25 45.0

24321660/93
Un4[rnr-l 2,2- afilhpfrl-2-ufrlurulhhuurh-

5-unr-1$unn
q2 Qpuril 35000 I 35.0

24321660/94 Snhqrhshtr q2 Qnurd 35000 I 35.0
2432t660/95 Shurnurqrhqhh q2 Uo 300 500 1s0.0
24321660/96 Zhrltnurqrhqhh q2 Uq 1400 75 10s.0
24321660/97 Zhpuurcrhqhtl qz Uq 850 100 85.0
24321660/98 4-unifrtrnpttrq nurppnl SZ 9nuril 3400 5 t7.o
24321660/99 Lhbnuhhurtlhn q2 9nruri 300 100 30.0

2432t660/700
1 - hpf l- 3 - rfhp[flrdf aurqnl ur ghurrurn

(EMIMAc)
q2 Qpull 22000 5 110.0

24321660/tO7 flnnulihh tr qt 9nruil' 1 160 25 29.0
24321660/t02 2-$hhhr urqhurn$thnh qZ 9null 960 25 24.0
24321660/tO3 srhchlt q) 9ntuil 260 50 13.0



24321660/rO4
1 -pmp[1- 3 -rftpf $tffraur qn1-

htpuur$nu$unn (BMIMPF6)
qz Qpruil 3400 25 8s.0

) 2432r660/r1s
I -pnpf 1-3-dhpf $ttf auqnl-p1nptrr1

(BMrMCl)
q2 Qpull 2000 25 s0.0

24321660/106
1 - hp[1- 3 -ilhpfrflrtf fr4uqnt- ptnpbr]

(EMIMCl)
qz Qpuril 1640 25 47.0

24321660/107
1 -fuf 1-3 -tthpfulril|r4urqnl-Fpnilb4

EMIMBT) Qpull 1680 25 42.0

24321660/108 trmghnurrhh lntbmlra 4.0 pH qz tr1 40000 0,5 20.0
24321660/rO9 trnr$hnurrhh lnr-bmlta 7.0 pH q2 trl 40000 0,5 20.0
24321660/rt0 trm$hnrurhh lmbmlra 10.0 pH qZ Ur 40000 0,s 20.0

24321660/11r
Agl AgCI rqurpmhur\nr1 hlh\tnpnrl|r

ruurhhtnt lmEnlrra
qz U1 120000 0,25 30.0

2432t660/ttz
I -pmpfrl- 3 -ilhp[f dfrrlurqnl-

tnhtnpur$urnppnpurur(BMIMBF4)
QpurI 2800 z) 70.o

24321660/tr3 2-nntBhh-1-ol q2 9null 9600 50 480.0
24111120/1 Zhnnr-b hhrhnr-rf trU T 17500 250 4375.0
241rr120/2 Zhnntb hhthnttl trU L 28600 200 5720,0
24771170/1 Zhnnr-b ruqmn q2 L 400 200 80.0
24717180/1 tlBrlurbhh qurq q2 .Fultnh 3500 50 t75.0
24321650/1 9rhqhnhb s2 Irq 1500 l0 1s.0

24321660/774 €1npn$nprf (U) qz L 4500 3 13,5
24321660/rt5 Uhraurhnr (LI) SZ L 1500 2 3,0
24321660/r16 9urq urpqnh ttq 3750 I2 45,0
24rrtt60/2 9urq urqnur qz funn rI 1500 6 9,0

24327660/rr7 P-urntmurrnhhhn q2 Vq 79000 I 79,0
24321660/II8 trmpfplrl fun1 |rh huphnurq ur (rfurnnm) sz hlur 650000 2 1300.0
24321660/rr9 Uqhrnht hnt htrkurahnurour 50 rmhhtn qt Zruur 1 100000 I 1100,0
2432t660/t20 2,2-+h$hLhr - I ul hhnhr hhnnurqhr sz 9q 100000 5 500,0
24321660/12r Uuru-rq hu1 urnhurrhtr ulqurrr qz Qnuril 40 500 20,0
24321660/122 Uuru-rq hul rnnburthh runqurhurh q2 9null 40 500 20,0
24321660/127 Urlhhnlr urur nnhulrdpnr qZ rrq 50000 3 150,0

Lutrnrusof uureuqnrnhuLbf 5,898.7

4417r400/l LntnF pnnrfmnnqnru$ Bhrahn q2 Sntrh 46000 ? 138.0
331 1 I 100/1 fthhurqhh lunnnrlurh Zunn 895000 I 895.0
384r i 100/1 Uknnrihurn hmlurrhhur qz Imlut. 50000 I 50,0
38431590/1 UurchhuurL ruh luurnhhl ururpurorl nn q2 Zuru 13s000 3 405,0
38431s90/2 Uurqtrhuurb urh luurnhhl q, Zunn 60000 3 180,0
38431590/3 UurcLhuuturh hruntrhl sz 2unn 80000 4 320,0
33191200/1 I.urFnnruurnn uhn urtrhl,r 20/20 q2 Zuru 20000 2 40,0
33100000/1 Uulhnururtnnq - 150 ilt qt Zurtn 2000 I 2,0
33100000/2 Onn&urbnphtnh zurururhrl qZ Zuln 1200 I
33100000/3 thnrlurrulh zr h$nrl 0-300"C qz Zuru 4000 3 12,0
33100000/4 .{urLnmtr.f nhurhtrt hnrmlurh q/il q2 Zuru 700 l0 7,0
33100000/s Cul ururht r-ftrnrun urL ruh s2 2unn 1500 5 7,s
33100000/6 trnhhl qz Zurur 3000 5 15,0
33100000/7 fthurftrh lusurhh burlrhl qz Zruur 5000 I 5,0
33100000/8 llburhhh hqurh 14 q2 2unn 100 50 5,0
33100000/9 Cnph $hrun P-16 q2 Zurur 1200 20 24,0

33100000/10 Uqhp-h |uururlullr, UU'TI-3, 0-40 q2 Zurur 4000 1 4.0
33100000/11 Uu.lhnuh |uuuryunlr, UU'II-3, 40-70 sz Zuru 4000 4,0
33100000/12 Uul hnurh hurtuturlr, UU'[I-3, 70- 1 00 q2 Zurur 4000 1 4,0
33100000/13 9nurrhh Eurnhhp, rihL uhnrubh s2 Zuln 5000 a 10,0
33100000/14 Uqur\1ur h hllurnnl UUf! ullqntl urlmrl qZ Zruu 215000 2 430,0



pH lulhhtm hurilurn
33100000/1s 'Inqunnnp 0,5-10 u, q2 Zurur 60000 1 60,0
33100000/16 'Inqunnnp 5-50 u, q, 2uln 60000 1 60,0
33100000/17 'Inquurnp 100-10000 u, qZ Zunn 60000 1 60,0

38431590/4
Uurqtrfruur\urtr ]uurn tr[r2[r urh$lnhurquln

(PTFE) rlurqtrhuhh 2url
SZ Zunn 300 10

3,0

38431590/5
Uuqhfuur\urh luurnLlr2|r uh$lntluulurur

(PTFE) rfurqhfrulr! 2,5uil
SZ Zuru 500 l0

5,0
38431s90/6 Zhururnrun& uurnhurnurtr 1 4/1 4 qZ Zuur 6000 2 12,0

38431590/6 Uurqhhuuh urtr luurntrhl qZ Zuru 130000 3 390,0
33100000/18 Ltntphnh hurtrftutr hhurn nnnrnn uurnp 1 q2 Zuru 550000 2 1,100,0
33100000/19 Ltmrahnh hurtrlurh Lhurn nnnrnn urunD 2 qZ Zuru 1000000 I 1,000,0

38590000 nlnrnrlnrl rlur\nuiurlfrh qnlnp2frurghnl uurpp Zurtn 650000 I 650,0

trdCr{UqUL LCULUqnFr€UL U4ITUL€Lbf 2,846.9
33r4rrI4/l @urtrqh$ UU u 150 120 18.0
33141 1 10/1 -{hnurLunu UU Zunn 300 60 18.0
33691390/1 'Ilhruhur uu Zruu 21500 2 43.O

33147142/1 Lhnurnhhr hfi uu 2unn 50 30 1.5

33141142/2 Lhnurnbhr 2ilr UU Zruur 20 200 4.0
3314tt42/6 LhnurnLhr 3ilr uu Zurur 40 10 0,4
33r41142/3 Ltnurnhhl5rlr uu Zurur 20 50 1.0
3314tt42/4 Lhnurnbhl lOrlr uu Zuru 30 30 0.9
33141142/5 Lhnrunthl20rfi uu Zurtn 40 20 0.8
33141t42/6 Lhpurplfy 1,5-2rlr uu Zurur 50 100 5,0
3314tr42/7 Lhnurnbhr 3rft uu Zrurn 50 50 ?q
3314rr42/8 LhnurnLhr 5rfi uu Zuru 60 50 3,0
33r61260/ Uhurrhqh rnurnru uu Zuru 100 t0 1.0
33141 1 1 1/ VullntL uqhnurtrh hunnhq UU 2urur 400 t0 4,0
1831 1 190/ fu rul urB rlhh rutrqurr.It ur UU Zunn 500 10 5.0
1831 1 160/ trul"hr uu 2unn 25 200 5.0
18441700/1 trdrlrurlrruh crhurntr uu Zuru 25 200 5.0
3314t129/l 'Ihrfurh rdrLruLurh uu Zunn 18 1200 2t.6
33t41129/2 'Ihtiurb pdrLurburh UU 2unn 2t5 500 t07,5
33141729/3 'Ihrhulr ndrhurturh zuu Zurur 32 1400 44.8
441r1450/r UnruFhurJur\urh urulur\h UU Snr-rh 540 20 10.8
1842t130/1 2tnbnq rdrLurLurh uu 2ruur 30 2000 60.0
18421t30/2 ttntrnq pdrburhurh uu Zuln 38 1000 38,0
031 1 12s0l1 trrurlnurlr uu Zurur 200 500 100.0
15991700/l $hrrnnh tanlrlra uu 9q 3200 20 64.0

1599170O/2 Othlnlhpuurt hh4hturunnh Bnlnrd qz Zunn 3000 25 75.0

38411200/r
O2 \nlnnur\rnurl|rh lrtr$puliurprflrp

qtnrlurlulh uu 2uln 55000 1 s5,0

33621641/l
Zur\urpur\urhpfrul hhrlnr-\,llrugnrl rlhgrg

&hnptpp urluururhurhhlnr- hu:.rfurp
UU Zurur

450 60
27,0

3362t641/2 Lurluunftutrnhurq hnbnn I nrbntl B uu I.hurn 2700 32 86,4
33191312/1 9nlpur tlnrrurhururuL,rrh$, 50rfi Zuln 1200 15 18,0
33191312/2 trnlpur lllnpurhulnur!,zrhg, 100rir qz Zutn 1500 l5 22,5
33191312/3 9n1pru \lnnurhunnurb,rrh$, 250rfi q2 Zuru 1500 15 22,s
33r9t3t2/4 9n1 pur 111 npurhulnurt,zr hg, 500rir qz Zrutn r800 t5 27,0
33191312/5 9nlpur hlnnurhunnurb,rrh$, 1000rfi SZ 2uru 5000 10 50,0
3319t312/6 kn1 pur 111 npurhurtnurt,Zf h$, 3000rlr qz Zunn 7000 2 t4,0
3319t3t2/7 9n1pur lllnpruhurururlr,zrh$, 5000tir sz 2urui 10000 20,0

33r9r3r2/8
9lnpurhunnru\ \npurtrhp n2 hurlhlurSfrb

zthgtrhnnrl
q2

Zuln 0,0



33r9r3r2/9
9lnpruhunnur\ \npurhhp n2 hurlhlur3frtr

zrh$trhnnrl 100 rtr
q2

2urur
1500 2 3,0

33191312/10
klnpurhurtnur\ \npurtrhp n2 hur3h1ur1[rh

rrh$hhnnr.l 250 rft
qZ

Zurur
3000 2 6,0

33191312/rr
9lnpurhunnur\ \nprutrhp n2 hur3hlurlfh

rrh$hhnnrl 500 rir
qt

Zunn
4000 2 8,0

3319t3r2/12
9lnpurhuruur\ \npurhhp ny hur3tlurlfrh

zrh$hhnnrl 100 ilr, hnulnmpntuurrhtr
qz

Zurur
1s00 2 3,0

3379t3t2/73
9lnpurhurnur\ \nprutrhp n2 hrulhlurlfrh

zrh$hhnnr.l 250 dt, hnunnntpmuurrhh
q2

Zurur
3000 2 6,0

33r9r3r2/14
9lnpurhunnur\ \ngluhhp n2 hur3hlur3frh

rrh$hhnml 500 rfi , hnururmpntuurrhtr
qz

Zurur
4000 2 8,0

33191312/15 -lu q2 Zuln 1500 15

33r9r3r2/76 9n1pur \lnpurhurururll,3 rnmpntu, 500rit q2 Zuln 5000 10 50,0
33t9r312/t7 9nlpur \lnpurhruulu!,3 uurr-pmu, i000dt qz Zrutn 6000 10 60,0
33191312/18 9n1 pur 111 npruhunnurltr,3 tnnr-pmu, 3000ilt qz Zurtn 12000 5 60,0
33191312t19 Vnlpur fplhhrlhhp,21|r$ utluruulhh, 50ilr q2 Zunn 900 15 13,s
33191312/20 9n1ptu tnr hhrfhhn,zth$ ultruurnfr!, 100rlr q2 Zunn 1200 15 18,0
33797312/21 9n1pur hnrhtnfthn,zrh$ ururuurhh, 250ilr SZ Zunn 1500 15 22,5
33191312/22 9n1pur tnrhhilhhn,zrh$ rururuurhb, 500rir qt 2uln 2000 10 20,0
33191312/23 trnl pru hnr hhrthhn,rrh$ urr uruurhL, 1000ilr 2unn 3000 l0 30,0
33191312/24 9nlnru pnr-hqhh 250rir q2 Zurur 1200 5 6,0
33191312/25 9nrpur nnr-hqhh 500ilr q2 Zunn 2000 5 10,0

33r9r3r2/26 9nrnur rnrhqhh l000ilr q, Zunn 2s00 5 t2.5
3319r3r2/27 Irnrpur rrr hqhh 2500rft qz Zuru 8000 5 40,0
33t91312/28 Vntpru cnrhqhh 5000rir qz Zunn 15000 5 75.0

33191312/29 \nhurd,h hurppruhunnur\ \npur Ztt$"rl tt
luqurhhhnnrl, 250 ilr

qt
Zuru

1500 10 15,0

33191318/1 trurdrub 50 ilr qZ Zunn 700 t7 11,9
33r9r3r8/2 trrudurb 100 rlr s2 Zurur 1000 t/ 17,0
33191318/3 trrudurl.r i50 rfi 2ruur 1000 15 15,0
33191318/4 trurdrutr 250 rir qz Zuru 1300 t7 22,1

33191318/5 trurdurtr 400 rir qZ Zurur 1500 15 22,5
33191318/6 trudurh 600 rlr qz Zurur 2000 15 30,0
33191378/7 trurdurb 800 ilr qz Zruu 2200 15 33,0
33191318/8 trurdurb 1000 rfi q2 Zruur 2500 10 25,0
33191318/9 trurdurh urtuurhrru 50 ilr qt 2uln 1000 15 15,0

33191318/10 trrudurb ullurbtur 300tlt qt Zurur 1500 5 7.5
33191318/1 I trurdurtr ruuurLtur 600rir sz Zurur 2000 2 4,0
33191318/12 trurdurb urulurhlru 1000 ilr q2 Zuln 3000 I 3,0
33191316/1 Uhhqnr-nhur lOrfi q2 Zurur 600 l0 6,0
3319r3r6/2 Uhhqntntu 25ilr q2 Zunn 1500 I2 18,0

33191316/3 Uhhqmnhur 50ilr qZ 2uru 1600 15 24,0
33191316/4 Uhhqnr-nhur 100ilr qe Zurur 1900 15 28,5
33191316/5 Uhhqmnhru 25OrIr qt 2unn 2000 10 20,0
33191316/6 UhhqntnLur 500rlr s2 2urur 3000 10 30,0
33t97376/7 UhhqmnLur 1000rfi q2 Zurur 4000 10 40,0
33191316/8 Uhhqmp urulur\3ur mnlr\nrl 25t11 qz Zuru 1000 4 4.0

33191316/9 Uhhqntnh uulublur nurhhnrl 100rlr qz 2rurn 1500 4 6,0
33191316/10 Uhhqmnh uruturtlur nuhLnrl 250rlr q2 2urur 2s00 3 7,5
3319r3r6/7 Urnhd nt hurrhrurrhh rrh$hhnnrl 14114 qz Zrutn 3000 2 6,0
33100000/1 Urnhd nl hrurhurrhh rrh$hhnnrl 14129 q2 Zunn 3000 2 6,0

33100000/2
,l*n+*l1 n2 hur3hlurlf L 2JrQhhpml

14/14/r4
qt

Zrutn
3000 2 6.0



33100000/3
.[*p.]*\ n2 hurlhlurlfrh 2frQhhpml

r4/r4/29
q2

2unn
3000 z 6,0

33191314/1 trurdurhhl &urqun 50 ilr sz Zuru 1500 2 3,0
33191314/2 trurdurbhr &urqurn 100 ilr gZ Zuln 2000 2 4,0
33191314/3 trurdurhhl &urqurn 125ilr qz Zunn 3000 10 30,0
3319r3r4/4 trudurhh> S,urcun 250dr qZ Zrurn 6000 l0 60,0
33r913r4/5 trurdurtrfrl &urqrup 500rI1 q2 Zrurn 7000 t0 70,0
33191314/6 trurdurhhl &urqurn 1000ilr qz 2urtn 7500 10 75.0
3379t3t4/7 trurdurhhl &ursurn 2000ilr q2 2urtn 15000 10 150,0
33191314/8 9urgurn $hrurnilurtr 60tlil q2 2urtn 700 30 2l,o
3319r3rA9 turgurn $htrnnrfurh 100ilil s2 2urur 1000 30 30,0
33r913t410 Uuturltlul &urqurn 3.6 uri qz 2unn 450 2 0,9
33191314/t1 Uulruttur &urqurn 5.6 url qz 2urn 600 z t,2
331913t4/t2 Uruurhtur d,urqurn 7.5 ud qz 2uru 800 2 1,6
33191314/13 Urlurbtur &ruqurn 10 url 2urur 1000 z ?n
33797314/74 2urqurn d=75 q2 Zunn 900 2 1,8
33191314/15 tursurn d=150 q2 Zurr.n 1200 2 2,4
33191320/1 I-rlruqilurh ururnur 500ilr 2unn 1200 9 10,8
39241260/r 'Tlhhqtu untn q2 Zunn 2000 2 4,0
39241260/2 'Ilhtrqhtn unrl nnurb urh q2 Zuru 3000 2 6,0
38431710/r 'Tlhurtu 1 rtr qz Zurur 500 5 )5
384317r0/2 nhqhrn 2 ilr 2unn 500 5 2,5
384317r0/3 'Tlhurhu 5 tlr qz Zurtn 600 5 ?n
3843t7r0/4 tlhulhur 10 rir qz 2uru 800 5 4,0
38431491/r Ahrnnhh Buruht 14 x 60 rftI qt 2rutn 60 50 3,0
38431491/2 Ahurnhh pruuhll 14 x 90 tIil s2 2rurn 80 20 1,6
3843749t/3 'tlhrnnhh rauruhL urqurLh 10uil qz Zurur 500 10 5,0
33100000/4 Ur:lurtrur rhnpn unlurhhhn qz Zunn 100 200 20,0

33100000/5
'tlhup[[ puruhll u1/q uurhp]r1-

utnthurnhnnrrurhh d=60rftI
qZ

ZuLn
40 60 2.4

33100000/6 'tlhurnhh rduuhh rl/ul uurhnhr d=90ilrf qt Zuru 20 60 1)

33r41129/l 'Ihdpf u1u2tnu1urhf 2 alnfur\htp
(rlurhurtnu\)

qZ
Zunn

800 6 4.8

33100000/5
thptf uryulf ureurulunF-hurilur\glr2, n2

hurthturrhh 14 rrh$ml
qt

Zuln
2500 4 10,0

33100000/6
Qhpriur2ur$ urlurulunF-hunfur\gfr2, 29 n2

hrurtrurrhh rrh$nrl
qe

Zunn
3100 I 3,1

33100000/7 __q!$.ri la-Irg 29 
"th*Jhl*JhtrztJrsnrl

qZ Zurur 2600 I 2,6

3319131414
9urphglurq Aurqurp 50il1 14114 n1

hur3h1ur3|rtr Z$$rrl, uh$1ntrh (PTFE)

nurtrurrhnrl

qz

Zunn

8700 1 8,7

331913i2/30
9lnpurhunnur\ tnu{qf\ http* 1 4/ 1 4/ I 4

n) hurrh urrhtr zr h$hhnml, 50tlr
SZ

Zunn
6000 2 12,0

3319r3r2/31
9lnpurhurnu\ hnullqlr\ \r11:* I4/29/I4

nl hurthturthh rrh$hhnnil, 50rft
qz

Zurur
6s00 ) 32,5

33191312/32
Vlnpurhunnur\ hnur{q}r\ \rl_p* 1 4/ 29 / 1 4

nl hrurhurrhh rrh$trhnnrl, 100rir
q2

Zurur
7000 4 28,0

33100000/8 fanfrtlurh 2hprfur2urr| , 14 ny hru1hlur1frtr

zDSntl,0-300

q2

2urur
7000 J 2r,o

33100000/9
Uqlrptnul|rh 2hprlur2ullr urnurtrg 2ilr$h,

0-150"c
q2

Zuru
2000 2 4,0

33100000/10
Uqfrpururlfrtr 2hprlur2rurlr urnurhg 2tr+b,

30-tr00.c
qe

Zunn
2000 2 4,0

33t913t2/33 Uhull qhll llnnurhunnurt hnt pur, 500rlr qz Zuru 5500 4 22,0



33191316/8 Ulnhd 14129 qz Zuln 5000 z 10,0
33100000/1 1 flnnrlurh qr tuur+hn 29 / I 41 1 4 qz Zurur 6000 z 12,0

33100000/12
1,5rI1 bunlurlml up{ur\trhp trU2€

hhr.nurq nurmplurh hullurn
qZ

Zurtn
100 r00 10,0

38431710/5 nhultr.n thnrhnluurhrutr bullrur h 5-50ribr qZ Zrutn 25000 I 25,0
38431710/6 'tlhqtur ftnrlrnhurhurh Eullurrh 20-200ilLr sz 2rurn 25000 I 25,0

38431710/7
Alrulhur rfunfrnluur\urtr bunlurfr 1 00-

1OOOrlhr
qz

Zuru
25000 I 25,0

3843171O/8 tlflahu rtrntrntuurburh brurlurlh 0,5-10 ul q2 Zuru 30000 I 30,0
38431770/9 nhru hrrr rhnrhnluurbruh bulluu h 1 0- 1 000u1 q2 2unn 30000 I 30,0
331 1 1230/1 OurtnurLurr nnq urnnnh 0-200r-ibr q2 Zuln 6 1000 6,0
331rr230/2 Ourtnurhurr nnqunnnnh 0-1000 rILr qz Zuln 8 500 4,0
3311t230/3 Ourlpurllurl 4nqrurnnl|r 0- 1 OrILr qz rnntrh 7000 I 7,0
33111230/4 Ourlpurllrul 4nqururnl|r 0-1000 rihr qt urmrh 7000 2 14,0
33191310/1 OnpAurhnp hurhhnnngh 1,5ilt qz Zunn 8 1000 8,0

18931230/r 'Ihnururmrh UU 2urur 289,65 290 84,0

SLSbUUIIUL, UULZhtThbLFII L I.qUSCF Uh9NSLbr
2,329.95

16161 100/1
ur31 qurhurqurh ur3 qhqnpbur\urh

uurppun]npmrlhhn uu Zurtn 2000 5 10,0

42I3IIO0/1 rhubruhtrhn' nutn gnnEurnmlBhhplr uu 2rutn 3500 6 21,0
39221420/I funqruhruh ulr.lurLnt uu Zurur 2000 2 4,0
39224331/1 tlnr11 ulluruurrluruh uu 2urn 1200 Aa 4,8
444tt75r/r urufu]rurhgnr-t qh purph r:l urnurquhhn uu Zurur 5500 l0 55,0
44511120/r 9nqruphrub uu Zurur 2000 l0 20,0
42131430/l rhurL urtrhhnh rrundurL hhn UU 2unn 1500 20 30,0
44423600/I durulullhh burlmh uu Zrurn 800 105 84,0
44423600/2 'Ilnr hilhn ru runnr-ln durru unl hh UU Zuru 450 50 ?rq
44423600/3 Uh\ntufrl durutudhh uu Zrurn 250 50 12,5
18421r30/I thnhnq prutllnnruLruh UU 9nr-ro 300 220 66,0
t8421130/2 Ctntrng rnhurtuurh urtr uu 9nrc 300 300 90,0
18931 130/1 'tlurnh urtnnhuurL urtr UU Zurtn 100 250 25,0
33761100/l 9nr-q.pnqp uu Zrurn 100 2000 200,0
42131700/2 <Druturh nnurh UU Zruu 7000 10 70,0
33141 I 18/r Uh&hnnqhb UU Zurur 200 150 30,0
395t4400/1 flqptur unph, UU Zrurn 700 80 56,0
39831282/1 9urhmlp rlurpnht nr I urra uu 2unn 160 85 13,6
3983t242/I t{urqph rhnrh &hnpnrl rrlurhrurnt hunlurn UU Zunn 400 96 38,4
19641000/1 urnt hkphr hhruthtr rl urnt, urnph hrurJurn uu 2urur 600 15 9,0
39831283/1 hurururhh t rlurqilurh t urrd uu 2unn 760 35 26.6
3983124711 Qhnph odurn UU Zruur 100 300 30,0
3983t240/1 rlurplnq htnrBhn UU Zurtn 350 r92 67,2
39831245/r ZhqntL odurn uu Zrutn 550 48 26.4
392214r0/1 U,lhr uu 2uln 1000 20 20,0
30192790/7 OurtturrahBhn uu @urp 1000 10 10,0
19241200/r hunlunlnn qnnbrlurbphhn uu U 2500 70 175,0
31211140/1 ht.uruurhndhr UU Zurtn 3100 l0 31,0
31686000/1 funnq UU Zunn 350 18 6,3
3121 i 180/1 11. Uhgruurlry 1 rnhqurhtr UU Zuln 1000 20 20,0
3121778012 Ur]rnnilunn urtrpururhr 25A UU Zunn 3000 t0 30,0
3121 1 180/5 Urlurmluru urhquruhl 63A uu Zuln 2500 1 2,5
31211180/3 Urlurntlurn urhgunnlrl hnur$ruq uu Zunn 7000 8 56,0
3121rr80/4 Urlrnnrluln urhpunnhrh umlth uu 2urur 4000 4 16.0
31s12360/1 tntuurn&urhhhn uu Zurur 4300 15 64,5



3r512360/2 I-hn tnruurn&urlt UU 2urur 4800 20 96,0
31512360/3 I-muunnmh urnurphl hq urtnnn q2 Zurur 1200 4 4,8

31512360/4 Lhn rmuulnll 60uri q2 Zurur 3000 I2 36,0

31st2360/5 I-hn lnr-uururnt24w qz Zunn s000 6 30,0

31572360/6 Lhn rntuurn&urh 50w qz Zunn 7000 2 14,0

44r41200/l h1.2p2ruhul1 uu Zurur 550 18 9,9

3t327200/1 hr. Lurn uu u 250 400 100,0

31685000/1 h. hnburnuroilurh rrun UU 2urtn 3500 2 7,0

3132120012 I-urnh uninurh UU Zurur 6 200 t,2
31684400/l tr.rhunnurb uu- Zurtn r000 30 30,0

31512430/1 hr.rruriut 100W UU Zurtn 120 400 48,0

39831245/2 Uruurbh rlurpnhr nt hhnnr-t uu Zurur 1000 T2 72,0

444LOOOO/1 Uh$nhh qrluht uu Zuln s00 l0 5,0

44410000/3 9ntqurpurhurhnhph h unlrurnhl uu Zurur 5000 5 25,0

39221480/l 9ntq.ulnulburb ntrph tunq urtruL uu Zruu 1000 2 2,0

44411760/l 9maurnurtrh nnnh pnhh; uu Zurn 3000 I 3,0

19642200/r 'TInr hkrahr hhurrhh purnurhn uu Uhun 2s0 30

42131470/3 Onpur\ir il|r2nt\ UU 2urur 550 30 16,5

42r3t470/4 Onnurhh rlhqntL UU 2urur 750 20 15,0

42137470/2 'Inruh r[ur\utrf ri]r2nr\ TutI uu Zuru 1800 4 7,2

42991420/l 9ph $hrrnn uu Zurtn I 1000 5 55,0

44471740/2 9nrqurnuhurLnhp uu Zuru 35000 2 70,0

444t1,740/3 9nrqurnrutrurtnhph nurph tlhluurhhqil uu 2uru 3500 10 35,0

444tr740/3 ttruhnrlh Lnnuhp uu Zunn 1000 2 2,0

44192700/1 Lhnhurnurnurhruh ctrrrh UU Zurtn 1800 6 10,8

39221460/1 Lhnhurnurnurhurh rln&hh uu Zurtn 700 6 4.2

37451640.11 9rnnnn uhunlurnurh uu 2unn 1200 30 36,0

3745t640/2 UtullurnruL urrrlururnh uu Zuru 2000 I z,v
r452717r/2 Unurpurn UU Zuru 1000 2 2,0

44161240/3 Unnourchnn uu Zunn 130 5 0,7

14810000/1 ZnhurBnqB uu U 2000 5 10,0

14810000/4 Sr hhh hnLurBnBh hurilurn uu Zunn 450 2 0,9

14810000/5 &tlurpnlqp hnp uu Zunn 200 10 tn
14810000/6 ZnhurronuBnrl uhullurnruh UU Zurur 500 4 2,0

44531160/2 4Iurnr-rnurlt uu 2urur 10 1500 15,0

31331 120/1 Ururnth 4x10tfti2 uu Uhurn 2600 30 78,0

31300000/1 Uurtnr-lu 4x4rftI2 uu Uhurn 800 25 20,0
312111,80/4 Urlrnnrluln urhquruhl hnur$urq 1 00A uu Zruur 15000 15,0

31221242/r 'hmntr rurururnhh 8ild uu Zunn 5 100 0,5

4453t160/3 'Ilurmururt 3,5x40rftf uu Zunn 5 100 0,5

44s21230/I Lurnh urtlnurL N8 UU 2uru 15 100 1,5

4452t230/2 Lunh urilnurh N6 uu 2rutn 8 100 0,8

37451640/3 qnnbhphhnh urnhn q, Zuln 4500 4,5

3745t640/4 Zh&hfh rurp qz Zrurn 4000 1 4,0

31512430/2 ShntLurrhL runftr 120 uil uu Zurur 1000 20 20.0

14810000/5 trurburrh 22x24 uu 2rutn 1500 2 3.0

1964T000/2 'Ilttrnrut urutn UU 2unn 800 4 3,2

3121 1 180/5 ht ht tnnmnnurhu$nnilurunnh ulnL ru uu Zunn 6000 3 18

cFLUL3nhrd 4,294.11
31683400/1 bnurpurrhhy{/u -1/z uu Zurur 3500 30 105,0

31683400/2 bnurnurrtuhl ri/ru uu Zuln 4000 5 20,0

31683400/3 'Il-{€ hnurpuruhhl O 100 UU Zunn 800 i0 8,0

31683400/4 n.{P urhhrmh O 100 UU 2unn 500 l0 5,0
31687000/1 Ulrqnrrl {/w - L/z UU 2urtn 1800 30 54,0



31687000/2 Utrlrrnrtr [/u -r/z uu Zunn 3500 10 35,0
24911200/r hrlnrtuhu UU Zurur 4000 5 20,0
44470000/2 9mqurpurhurhttltph ufr$nh(qn$ph) O 100 uu Zrurn 2800 4 TT,2

44831500/1 Lnr-bhl0,5r qt 2uln 800 10 8,0
42rt1210/r Ulrgtrnprllr uurlhh uu Zurur 400 20 8,0
44r6t240/1 &hnth lunrrmlurt uu 2uru 1200 30 36,0
24911600/2 hutopuhrhL unuhh& uu Zruu 1500 4 6,0
249rt600/5 U'I$-h r:rruhh& uu Zurur 2000 3 6,0
249rt600/4 Unuhh& Zhnnr-t ilttu uu Zurtn 2300 5 11,5

24911600/6 'tl-{U unuhh& 1,0 Lq uu Zruur 1000 5 5,0
436rrt90/5 funnnrlurth tounluru uu Zunn 800 100 80,0

43611190/4 funnnrlurth toulluru uu Zurur 1200 16 t9,2
44ttr4t6/1 LtnL durLutnrurhh q2 Zurur 21000 6 126,0
444t1300/1 I-r]urqurnurh UU Zuru 28000 4 112,0

44477300/3 Lrlurournurh b hnurtihb urL urh nrnpnrl UU Zurur 20000 2 40,0
31717250/l 'TInr hrlhnurr hh dh urhunn nrl u.rL uu U 400 100 40,0
44ttt4t3/l LhnL rnuurhhnL uu Zurtn 8000 4 32,0
441t7413/3 3mnurtrtnb q2 Zunn 8200 5 41,0

44870000/7 LhnL ruruhpu UU Zurur 9500 5 47,5

4492ts00/l OhrhurilurbhL 'Thunl.t 4500 10 45,0

44927500/2 Otrhurtlurbht t ull drurhh qt '[urnlt 6s00 5 32,5

4492IIIO/1 thruu rurnurlu sz 'tlurnh 2400 10 24,0
44192400/1 Qurq qz 'tlurnh 1300 10 13,0

44tI1200/l thrihhur qz tllurnh 3000 15 45,0
I42L7IOO/1 Urlurq qz 'tlurnh 250 60 15,0

42131230/1 Oruburtr qnh UU Zuru 2300 50 115,0

42r3t230/2 9nh fiurturh cbahturilnn 3/a nntrtl uu Zunn 3000 I 3,0

42131230/5 Qnh rhurhurhlf/u th UU 2urr.n 3200 10 32,0
42r3t230/3 Qnh rhruburtr 3/n nlr-rtf UU 2unn 3s00 22 77,0

42651200/r thnrntr UU 2unn 10 400 4,0

42657200/2 'Itntph t rlurqrunurhh uninurqLturh UU Zunn 350 J 1.1

44r6t240/1 funnnrlurL rllur UU u 360 100 36,0

44161240,/5 funnnrlruhh trquiluru hhhhr UU Zruur 1500 2 3,0

39191 100/1 Qhut u urnil urnurran rah urur hl't q2 2unn 4500 10 45,0

4273t490/7 Uh$nh UU Zurur 1500 20 30,0

42t3749012 Uhbntr rrlurqunurtrh uu 2unn 3500 i0 35,0
44111417/I LurluurhhnL uu 2unn 3200 5 16,0

44411100/1 O'nnrut uu Zruur 3000 30 90,0

444ItIOO/3 fuurnLhl bnnurt trlurqurnuhh uu Zurtn r5000 I 15,0

3r7rr250/r ,Tl.{€ hnlnrlurh uu Zruur 600 60 36,0

42991470/r 'Tl-{P }unnntlurLh hquriluru uu Zruur 500 60 30,0

317112s0/2 'tl-{€ }unnnilurh O50 2il UU 2unn 1000 30 30,0

31711250/3 nI.{€ tunrrnilur! 0100 1rI uu 2unn 1500 5

3t71t250/4 'tI.{P hnlnrlruh O100 0,5rI uu Zunn 600 5 3,0

31711250/8 Uhrnurnurulurutnh hnnnrlurL @20 uu Zurr.n 1000 100 100,0

3r71t250/9 IJhnurnurt urn ulnnruruuuru UU tro 700 5 3,s

3t77t250/tO Surhqulthh tun uu u 100 120 12,O

4476317U1 Qnurhhnurqilurh urnrlmLL F150 uu 2unn 5000 z 10,0

30t92233/r ufu}t\nh uu Zurur 1000 5 5,0
44rlr4r2/l Uhr.nhhnn hhnlr uu Zurur 3250 2 6,5
39299200/1 Uulurllh UU €urn rl 7500 t0 75,0

42677140/l hrhturnnn uu imrh 3800 4 15,2

3s111190/1 (Dnrtrntn 2|rhurpurpur! urb uu Zuln 2100 ) 10,5

44192630/1 2hnrmu uu 9q 1350 2 )7



44521230/1 Urlnurh uu Zurur 40 200 8,0
3r7rr250/5 Uhrnurnululruurnh urhqnul 1/2 UU 2unn 2000 16 32,0
445r1340/2 $urrrhhnh UU 2urur 1500 3 4,5

44322t00/4 h riurtmlu 2x4 htnn UU rlttnn 700 45 31,5

44322t00/5 h rlurrmlu 2x2,5 brnn uu rlhr,nn 350 100 35,0

44322100/6 ht rlurtmlu 4x4 UU ilhrnn 1000 20 20,0

44r61240/3 tlntrtr uu Zunn 10 50 0,5

39531600/1 ZunnuLh burbhnr-rp uu qbil 3200 30 96,0
44221140/7 'Inrrl urrrntilhhh runn$hrho qz 2urtn 86172 2 t72,34
44221140/2 'Inur urrrntilhhh orlurrur&h runn$hrhq 1 q2 Zunn 475776 475,72
44221140/3 'Imn urrrnulhtrh orlurrur&h urnn$hrhq 2 qZ 2unn 365100 365,10
4422rrO0 Uhtnurn ulrrt uruurh ru urtnnthurh q2 2unn 216480 216,48

44192300 'thurnrrthurhurqrrc u r uruuhb t s2 Zurur 22680 22,68
4492ttro/2 Qhuu rrunurlu 30Lq qz Zurtn 2400 15 36,00
44921s00/3 Ohrhurilurbhh qhuuulrhL 30bq q2 Zurur 4200 2 8,40
39r9rr00/2 Qhuru-uunlurnurpnrah uurr hb enurLurnlh qz Zuln 4500 I6 72,00
44431400/1 nnn$hr U-21 SZ Zunn 500 t2 6,00
44431400/2 'tlnn$hr F-47 qt Zurur 850 l0 8,50
44437400/3 'tlnn$hr U-50 q) Zuln r000 8 8,00
4443t400/4 'tlnn$hr G-60 qZ Zunn 1400 9 12,60

44410000/3 &urphnh qurhq 5uilx9Oil q2 Zruur 1300 z 2,60

44161240/4 'Thruuuhh nrntnhr 6rftl q2 Zurur 3 300 0,90
44531110/1 'tlurnr-ururL 3rlilx35 rftI qz Zurur 5 300 1,50
4453tttO/2 'IlurmuurL utr 25rftI q2 Zurur 5 1500 7,50
4453rrr0/3 'thnnrururh uh 45rfiI q2 Zurtn l3 s00 6,50
4453ttt0/4 tlltnnrtnurh hhphurururnmnrlnn 3x1 2riri q2 Zunn 4 500 2,00
4471t417/2 Lrutuurtrhnh 10lrc qt Zurur 2500 1 2,50
44rt1416t2 Lhnlr durlrrutmurhh l5r qz Zurtn 21000 I 21,00
444r0000t4 Onrurhntuhl O=12,5urI qz 2unn 6000 2 12,00

31683400/4 'TI.{P hnurpurz}uhl O =100il1t q2 Zurur 800 I 0,80
31683400/s 'tI.{€ urhhrmtr O =100rftI qt Zruur 600 1 0,60
3t683400/6 ,TI.{€ hnnnrlurt O 50-2il qt 2uln 1200 2 2,40

31683400/7 A.{€ lunrrnrlurL O 50-1il s2 2urtn 650 4 2,60
31683400/8 'TI.{€ hnurnrurluhl @ 50 sz Zunn 250 4 1,00

31683400/9 'Tl-{€ urhbtmh O 50 q2 Zurur 2so 1 1,75

31711250/2 9ntsurpurhurhnhph dLurhnnmlur! O 100 qz Zunn 2800 2 s,60
3r711250/3 I-rl urqurnuLh dh urhnn nrl urL sz Zruu 1800 1 1,80

444t0000/3 I-rlurqunurhh uh$nh qz Zunn 3000 I 3,00
444rrr00/4 Onnurh rrlurqurnurLh 1 urhnurtrh q2 Zuru 6000 I 6,00
31687000/3 Utrqntil rnnhqh lnnrrrfhq- 1/2 nmrrl q2 Zunn 800 2 1,60

44410000/4 I.hn rnr-urun&urh 24W $/ Zurr.n 5000 6 30,00
24911600/7 Uurrhhh unuhhd,25Lq qz Zurur 3700 l0 37,00
44410000/5 Lhntrh qrurhhL 30url qz Zunn 1800 2 3,60
444IOOO0/6 LhnLh crurhhL 15utl qt Zunn 800 2 1,60

444|OOOO/7 Lhnhh lnrunru qZ Zurtn r300 I 1.30

44411740/1 9ntq.urnurLurbnhp q2 Zurur 40000 J 120,00
42131230/6 anh rJrurburh qtrnhLuLlnn 1/2 nnrrrl qz Zurut 2500 6 15,00

4367rt90/6 funlnrlurhh hquriluru urhtrnth +/ Zurur 50 15 0,75
43611r90/7 fu nn urtl uL h h quriluru hnurnurrhrrhr qt Zuln 80 13 1,04

4361rt90/8
funqn{ur\}r \gurr.furu rlhrnurqfrg -

r:lluruurfr! O20
qz Zuln 1500 8 12,00

44t6r240/6 tunqnqur\ qpruurlr! O20 (qur1l1ur) qZ Uhurn 450 72 5,40
44r6r2Q/8 funlnrlurh ilhururnrru @50 s2 Uhtnn 2000 204 408,00
44161240/7 Uhrmunrru lunlnrlurL purnurtnr-uh 30x30 s2 Uhrnp 1000 t2 12,00



444tItO0/5 Utrhrl hurhnr-rph O100ilil q2 2unn 1300 4 s,20
44471760/1 9ntqurnurhh ranrah Lurluhr trhururnrur q2 Zurtn 2500 2 5,00
392993t0/1 Zurrhr h urr uruurhLt rnqurhurtnd s2 2urn 6000 6,00
24911600/8 Uurrhbh unuhh& qz 'TIurnlr 3800 J 11,40

39540000i1 Uhurur4lur dnuurh 8ilrl Utnn 200 20 4,O

trfbLuquL L3nr.rdbt L qruuLb3uqu3hL .[FSnhSpLbr 728.35
30141200/1 Zurlrluruurnp, qpuruhhrurhurrhh uu huru 5200 3 1s,6
30199792/1 Opuronrlo uu Zunn 800 3 2,4
30792725/l Uurnhhn UU 2rur.n t40 5 0,7
30192125/4 UurnLhn ranrah nhnhh UU 2rurn t70 8 r,4
30192125/5 UurnLhn ranrah hurtruu uu 2urur 170 8 7,4

30192125/2 Uurnhhn uluurhnr uu Zurur s00 t5 7,5
30t92725/3 Uurnhhn uu Zuln 300 15 4,5
30197230/4 Qnhhurh urh ur hurnrrphhnh ururhnhn uu Zurur 1600 2 3,2
30197230/5 fdn raurnurnurh 4 nrudhhq uu Zurur 7000 2 14,0
30t99420/l Lrntilh Dnr-nrd uu Zuln 800 5 4,0
3019723r/r $urll uu Smrlr 990 25 24,8

39263200/r Qnurutlrrurhurrhh qhnp uu Zuru 760 50 38,0
39263200/2 9nuruhhurhurrhh chnp 60tq uu Zuru 550 3 r.7
39263200/3 Qnuruhhrurhurrhtr qhnp 100 tq UU Zruu 960 3 2,9
30192130/1 Uuruhtn UU Zurur 100 100. r0,0
30197230/1 f}nraurutruhurh UU 2urtn 150 100 1s,0
30197230/2 f&n rourur urhurL nhqhunn 8uil uu 2unn 1000 50 50,0
30197230/5 flnpuru urhruL nhqhuun Suil uu 2unn 750 6 4,5
30197230/6 flnrauru urtrurh ntqhuun 4uil uu 2uru 750 10 7,5

30t97230/3 Unuraurhurn uu Zunn 100 100 10,0
30197230/4 Unurgurh urn r:l t uruurhh uu Zunn 200 60 12,0
30192121/1 sphl uu Zuln 100 200 20,0
30t9212t/2 Qnhl hurumrur uu 2uru 100 24 2,4
30192727/3 9nhr Lurrunr-ru nurnruL burrnnrl uu Zurur 250 t2 3,0
30t92r2r/4 anhl hurnrihD Furnut burrnnrl uu Zruur 250 12 3,0
30792721/5 Qnhl uh pulnuh burrnnrl UU Zuru 250 t2 3,0
30197622/r flntnra U4 uu Snlrh 2000 100 200,0
30197622/3 flnura U4 uu Sntrh 2250 70 r57,5
30197622/2 fdnura U3 uu Snr-rh 4500 2 9,0
30197622/2 O'frurp U4lurtuh UU Zurtn 100 50 5,0
30t97112/1 9urnhfh ilhururqrul urn Lurq hn, rlhqhtl UU Smrh t20 10 1)
30197rr2/2 rrurnhlh ruuhnhhn UU Sntrh 300 5 1,5

30197rt2/6 9urnhlh uruhnhhn 2616 uu Smrh 155 l0 1,55

30197rt2/3 fanrah Lurnhs uu Zuun 1500 5 7,5
30t97rr2/5 fartBh lrrunhl26/6 uu Zurtn 1350 5 6,8
30197rr2/4 9ndqurilhhn qnthurdnn uu Snr-rl, 1000 J 3,0

l89l 1300/1 U\purn uu Zuu 4000 z 8,0
1891 1300/2 U\purtn \hhgulu:1frl: UU Zurur 490 5 2,5

30197231/1
fdryaurulurhu\f u1n$ilhpurlfrh purlurtrp,

$rurr 50 riLn
UU Zurur 1050 ? 3,2

30100000/l .Iq.I n UU Zruu 150 20 3,0

30199410/1 hLptrurunulrh&rlq futr.tlp (1t1pf 68 rlurufrg uu Zuru 70 70 4,9
30t41200/2 2u2{f2 uupp punu:\ntu}r urprfu-rur hr.u2r{nr1 uu Zuln 5800 5,8
39263520/l Oryotntt uhrltiu\ 5l rftI uu Snuh 840 5 4.2
39263520/2 Oqptph uhryIur\ 32 rir.I uu Smrh 380 5 1,9
39263520/3 fdqfuhnlt uhrlfu\ 19 riri uu Smft 210 5 1.1

392925301r €urbnh 30urJ uu Zuru 220 5 1,1

39292530/2 Purhnh 50url UU 2uru s00 5 2,5



4299ttOO/l 9urqrfupuput\urh uurpphp uu Zu]rn 3s000 35,0

UTSII2UqNhUS 77r.O
1831 1 190/1 fuurt rura uh nurilrurttu- uu 2urn 6000 I 6.0

18311 190/2 fuurlurra hulrlntlur UU Zurtn 4000 I6 64.0
1831 1 190/3 fuurturra uulhtnurt UU Zurtn 3500 r66 581.0

181 1 1200/1 trurhrl nnurh urh urnrnurhuqnluu uu 9nrftu 12000 10 120.0

hl.bqsfnsbtuLhrrU, IlUrlhnsbnrLhqU b qbLSUr\U3hL uqruLeLbf 4,134.5

39711140t1 Uurnhurnurh hhhqulnurrhh }L 2unn 150000 8 1,200.0

32550000/1 Zhnurlunuh ruut urlnurn q2 Zurur 5 8000 400
3831 1 100/1 f t h\ urpntrurl|rtr \ 2hnp q2 2urur 80000 I 800
38311100t2 hr hbunnhurrhh hrhnp 12-20tq qt Zurtn 20000 I 20.0

39721500/1 Surpurqnrqhr g2 Zurtn 6500 I 6.5

39721500/2 Surpurontoh) qt Zurn 27000 4 108.0

39721310/1 h httnnurburh rnurpuromghr flturr nnh$hn) Zurur 7000 2 r4.o
38431570/1 hr.uurrhLr gz Zuln 6200 30 186,0

38431570/2 hr.uurrhb qz Zunn r5000 30 450,0

4212rr50/1 Qnh runr-iru q2 Zuru 25000 2 50,0

33100000/1 ?nnurtrnq 50t qZ Zunn 600000 1 600,0
3831 1 100/3 9rhnp hhhunnhurrhh,3Bhrl,600 qnuril SZ Zurur 450000 I 4s0,0
38311100/4 rrrtnp 2 rorlh drurnlrdtuilE SZ Zurur 60000 I 60,0
38431570/3 <Durh hhllrnpur\urh uurlh\, 1 urhqrutrno $/ Zuln 15000 2 30,0

42500000 Onurhnrluronlqh! qt Zurtn 40000 t 40,0

3831 1 100/5
h1h\rnpur\uh \2tnp ilfL2b 360 qpuni

btnnl
sz

Zruur 200000 1
200,0

3831 1 100/6 &rqnhrn philhurburh hrhnp qZ Zuln 200000 3 600,0
quflbl.uLS0hrdbr b guuSnhr\bf 723.2

09132200/l phhqhL, ntqntlturn uu L 450 200 900
0941 1500/l ilhBruh qulq uu 9q 300 800 240,0

0941 1300/l runnruurtr qurq uu L 300 360 108.0

09734240/r nhohrurrhh rlurnhr hp, urr.furnurrhh uu T 460 100 46.0

09211110/1 eurndhrh rnuhn uu L 1600 t2 19.2

24321660/1 -{urhnr-nrtf tnq sz 2200 100 220.0

rabffdbr 947.6
222OOOOO/r Ununlnln uu hurur 200 258 51.6

22200000/2 llnlnu Unrlhhhh uu huru 200 52 10.4

222OOOOO/3 2urrururnurhh trdrh urqhrrrntnr nrtr uu hunn 1800 4 7.2

22200000/4 Zurluruururhh rrhtruruprutrurLurh Zurhnhu UU huln 1800 4 7.2

22200000/s Zurrtuuururhff Cfilfu\urh Zurh4hu UU hurur i800 4 7.2

222O0O0O/6 dnr-nhurr op2thl luhilhh uu hunn 27000 72 324
222OO0OO/7 dmptlul onqurtrhlhuhnl luhdhh UU huur 27000 12 324
222OOOOO/8 $urnrlurqhur UU hurtn 27000 8 2t6

Lutrnrusnf qbLrluLhLbf 2,828.0
03320000/1 Untt turpnnlurnnn qz Zurur 1000 1340 1140.0

03321800/1 &urqurp UU Zurtn l 1000 28 198.0

03320000/2 Unhhur SZ 2urtn 2000 590 900.0

ZUUUqUfq2UShL U'LlULgLbI- h'IIUI-UqULbr 3,050.5

3r15t120/1 Uhtuulhurh ulrnr-qiluL uurnp q2 hunn 30000 2 60.0

30232231/l 9n2ur u\unlurnur\ qz hunn 30000 I 30.0

30237280/l
Zurilru\urpq2f utrntgilurh hurhqnr-; glr

hnr.lurqmqhr

q2
huln 2000 10 20.0

30232231/1 Zuniurhrunqlh hnrrn uLullurnurlt .'r4 hurui 50000 I 50.0

30236100/l 2uniurh urnqrh rl hatnpurnu qz huln s0000 1 50.0

30239130/1 Sru hl rurq ilul$nlhL qhnhur qZ huru 150000 2 300.0



3023462011 Sthz hhznlmplnr-tr q2 2uln 4500 2 9.0

30234620/2 Srhc hhrmmrarnth l6Q.F s2 2unn 10000
.7

70.0

30232231/l CD u\unlrunur\
s2

2rurn 2s0 30 /.)

302374r,0/l Zunfur\urpqlurl hh utnhqhur 2rup qz Zuru 6000 2 12.o

30121500/1
I-urqhpurl|rh tnqh:b purpurFtr2 qZ Zurtn 15000 4 60.0

302377r2/1
2ulfur\urpq2|r uhnr-grfurh p1n\ 550V qz Zuru 10000 4 40.0

30121s00/1 \-nlnnh:. a-t Zunn 20000 4 80,0

302374t2/1 .Iqhftq urhlurp q2 Zunn 10000 5 s0,0

38520000/1 U\urhhp q2 2unn 40000 I 40,0

302346213 $1h2 hfr2nrlntpSmtr 0.5 9tr sz 2uru 2000 5 10,0

3023462/4 $1h2 h[2nr1ntp1mtr 1 9tr sz Zurtn 2000 ) 10,0

3023462/5 $1h2 hfr2nqmplmh 32 qtr qZ Zurtn 5000 2 10,0

3023462/6 $1h2 hfr2nqmplnth 64 qtr SZ Zunn 10000 1 10,0

3023462/7 S1h2 hlr2nqntpSnr-h 128 gtr q2 Zunn 15000 10 150.0

3tt5rr20/2 Uhluur$urh uhmgrlurh urupp =L 2uln 550000 I 550,0

30211200/1 Lnppntp q2 2ruur s50000 2 1100.0

30239130/2 trruqrftu$mtr\gfrntrurl tnulfr2 3-p 1 -nul sz 2ruur 130000 130,0

31100000/1 2nrlurgntg[2 Lmrppmpfr hrurlrup qz Zuln 7000 7,0

30239r30/3 trurqriur$nttr\gfnhurl urqlr2 3-p 1 -nrf qz Zuln 13s000 t 135,0

30237310/1 €*nfopt l qz Zurur 1s000 4 60.0

qfuubL3uqu3FL quznhSe 900.0

39111180t1 Urann uu 2ruur 15000 60 900.0
qbf 212.5

3271400/l Zrurnhh qurnh uu 9q 200 1000 200.0

327t400/2 Zunlurhqrlurb bhn uu Vq 250 50 72,5'

UGnrUSUL€Lbf
570.O

79800000 Sruruqnntratnth UU Zurur 3800 150 570.0

Uurnrulurplnr-htrtp 54,431.46
6s21 1 100/1 Qurqfrpru2|unui UU nnunl 9332200 1 9332,2

6531 1 100/1

h1h\rnpur\urlntpl urtr pur2fu nr-ri uu rlpruil 2024100

0

I 2024r,0

65111100/1 futlhrnt snh purr]until uu 4nuril 3537000 t 3537,0

64211100/1 Zurhnurthh hhnurlunuurt hh s2 tlnunl 2756800 I 2756,8



bunurqntplnr-hhhp
s031 1 120/1 hulfur\urpq2urlfrtr uurpptplr

ulurhulurhrlurh h tlhpruLnpnqilurtr
burnrulmlalmhhhn

uu 'IpurrI 720000 I 720,0

503rrt20/2 €-nfonlt gh fr gpullnnpilur tr

bunrulmBlnr-h
UU Zuln 4000 40 160.0

s031 1 120/3 Qnthullnp purpfdlrhph frgpullnnpriruh
brunurlmplnth

uu 2urur 10000 5 500

9051 1 150/1 Uqf t, $rl"*qprftuh burnurSnr-plmhhhp uu 'Iprurl 951700 1 957,7

79981 100/1 purdurhnp4ruqprlurh burnrulntplmhtrhp UU 'Ipurti 957900 I 957.9

72617100/1 hurr.tur\rupq:u{bb rnh}uhf \ur\urh
odurhnurh ilurh brunurr ntprmhhhn

UU 'Ipuni 900000 I 900,0

60411200/1 Urllrururnilu UU tlpunl 950000 1 950.0

48761100/1 hru\unlfrpntuur3]rh hunlurllurpqlulbtr
bnruqnurhtr rhurBhrahhn

UU Zunn 12000 50 600.0

79821170/1 Suluqpur\urtr h urnurprlurh
burnrulnrplmtrhhn ft nurhruhq)

uu huln .7
10000 70.0

7982rr70/2 Sulurqrur\urh h urnruptlurh
Eurnurlmplnthhhp (hnurhurhq)

uu huru 6 2500 ls.0

79821170/3 Suluqpur\urh h urnurprlurh
burnurlnr.plnthLhp (hpurhruhq)

uu hurur 10 1000 r0.0

85141300/1 'Ihqurqnpbru\tuh burnurSntplnr-hhhp qt huln 72 100000 7200.0

85r41300/2 'Ihqurqnpbur\urh 8urnurlmp3nthhhp q2 huru 20 25000 500.0

8s141300/3 'Ihrlurqnpbur\ruh burnur3nr-plnthhhp huru J/ 10000 37.0

72267110/1 Opurqpurlf h ruquhrrrlriurtr
burnurlmplnthhhp

uu hurur 20000 2 40.0

7226rrt0/2 Opurqpurl frtr urulurhnrlrftutr
burnurlnlplnthhtn

UU hunn 10000 10.0

76131100/r Qurqururqurnrlurh hulfur\,rnqh
uhfu hfrur\ur\uh uuluruurp\rfurh
burnurlnr-p1nth

UU +Furil 94856 I 94.856

77311200/r Surpurbpfr purph\rupqrfurh burnurJmplnrh uu 2rurn 800000 1 800.0

77311200/3 knlnuluqblr rlurppriurh burnurlmplnr-h uu lurur 600000 1 600.0

77311200/4
Uurnhurprutrtrhpfr r{hpurhnpnqrftuh
burnurlnrralnlh

uu Zuln 200000 I 200.0

66510000/1 Urqurhn{urqpur\ruh burnurJnr-plnthtrhp uu Zuru 300000 I 300.0

641 10000/1 @nuururlf h burnurtntptnttrhhn uu tlnunl 500000 I 500.0
73432100/r Uhburtu qhurhurunnh burnulnr-nrmtr uu .Inuril 120000 I 120.0
90521310/1 €|ilfu\uh prurlnhhhpf n2tr2urgriurtr

burnurlntralnth
uu 'IprurI 900000 I 900.0

651 1 1200/1 Onnqr"lurh 9p[r pur2]umil uu u3 11 18000 198.0
45341700/r rrnurL ilurnhlh t hqpurl nnnr-il uu 2unn 4200 50 210.0
601711t0/r Urlumltphhurth rlrundurhurr mrarmh uu Zunn 420000 I 420.0
99600000/l Utt burluuhn q20 tlnuli 900000 I 900,0

72212239/1
'Inhhpfr urrlurntlurur \urnunlurprfurh
hruriurburnqh rnhnurnnrlurtr burnurtnr-ptnth

uu Zuln 150000 1
150.0

eL.IUUbLC 120,835.67


